SNCIDO ATOMIC STRUCTURE Name

1. Use the vocabulary terms that follow to label the parts of an atom. Place the correct
term on the line next to each part of the atom. You will not need to use all the terms.

nucleus proton neutron electron energy level (orbit)
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2. Complete the following table describing the three subatomi }p‘f'}tlcles

Symbol | Overall Charge | Atomic Welg}a{ (u) | Location in Atom
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3. Label the information provided in the periodic table. "H\(', AWV ( \ ev s
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5. What does the atomic number represent?
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6. What %es the atoml mass represent #
of neutron$
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7. How would you figure the number of protons or electrons in an atom?
q*ami(, r\vmbe(—
8. How would you figure the number of neutrons in an atom?
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9. Each energy level has a limit on the number of electrons it can fit:

1st orbit = T e 2nd orbit = g e
3rd orbit = _8 e 4th orbit = _lg e
10. Draw the Bohr-Rutherford diagrams for the following:
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